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Final test

I. Questions

1.
what is the difference between the kind of phonological primes that are used in Feature Geometry and Government Phonology?

2.
what are the articulatory and phonological grounds for assigning positive Charm to a prime?

3.
provide the exhaustive set of governing relations that are supposed in Standard Government Phonology (Kaye et al. 1990).

4.
why is Standard Government Phonology unable to refer to both Codas __{#,C} and both closed syllables __C{#,C} in a uniform way? Which are the consequences thereof?

5.
what is the source of syllabification in Standard Government Phonology? In a sequence VC1C2V, what is the reason that makes end up C1 in either a Coda or an Onset?

6.
what is strict locality? What is strict adjacency?

7.
what is the Binary Theorem?

II. Closed Syllable Shortening

1.
In the article "Coda Licensing", Kaye identifies two different kinds of what is commonly known as Closed Syllable Shortening.

2.
which languages represent type 1, and which languages represent type 2 ?

3.
Kaye uses two arguments in order to establish this distinction, one empirical, the other theory-internal. Identify them.

4.
there is a typological parameter that allows for telling type 1 from type 2. Identify it.

5.
consider the following alternation in vowel length from Czech (an acute accent indicates length)


NOMsg
GENpl
C-initial suffix
gloss


žába
žab
žabka
(dim)
frog


bába
bab
babka
(dim)
old woman


blána
blan
blanka
(dim)
membrane


lípa
lip
lipka
(dim)
lime tree


skála
skal
skalka
(dim)
rock


pára
par
parní
(adj)
steam


víla
vil
vilnost
(noun)
nymph


léto
let
letní
(adj)
summer


according to the typology established by Kaye, which type does this alternation illustrate ?

6.
now consider the following additional information (only diminutives reveal this property since the final vowel of the adjective marker -ní cannot be removed)


NOMsg
GENpl
dim NOMsg
dim GENpl
gloss


žába
žab
žabka
žabek
frog


bába
bab
babka
babek
old woman


blána
blan
blanka
blanek
membrane


lípa
lip
lipka
lipek
lime tree


skála
skal
skalka
skalek
rock


the GENpl of diminutives falls foul of what you have good reason to expect. In which way exactly does it "misbehave" ?

7.
one language examined by Kaye that provides crucial evidence for his demonstration comes very close to the Czech pattern, except one single feature. Identify this feature.

8.
the Czech pecularity identified under 6) and 7) may be accommodated without harm if a special status is granted to the vowel that appears in dim GENpl between the last consonant of the stem and the first consonant of the suffix. Suggest an appropriate underlying representation for this vowel (also considering what you may know about this kind of vowel from independent sources).

9.
now consider roots that instantiate the scheme CVCC. They behave in two different ways. Whether a given root follows type A or type B cannot be predicted.


type A



NOMsg
GENpl

NOMsg
GENpl



fem -a
pravd-a
pravd
truth
valch-a
valch
washboard



korb-a
korb
tipper lorry
jirch-a
jirch
white leather



kajd-a
kajd
jacket
sekt-a
sekt
sect



křivd-a
křivd
pain
blept-a
blept
gossip



harf-a
harf
harp
revolt-a
revolt
revolt



miliard-a
miliard
multimillionaire





neut -o
hejn-o
hejn
swarm
lejn-o
lejn
excrement



salt-o
salt
salto





type B



NOMsg
GENpl

NOMsg
GENpl



fem -a
farm-a
farem
farm
zebr‑a
zeber
zebra



Vilm-a
Vilem
Wilma (female first name)
algebr-a
algeber
algebra



palm-a
palem
palm
kobr-a
kober
cobra



norm-a
norem
norm
sestr-a
sester
sister



reform-a
reforem
reform
kmotr-a
kmoter
godmother



kaps-a
kapes
pocket
bucht-a
buchet
kind of dumpling



jacht-a
jachet
yacht
kart-a
karet
card



placht-a
plachet
sail
barv-a
barev
colour


neut -o
žebr-o
žeber
rib
jitr-o
jiter
morning



patr-o
pater
floor
metr-o
meter
metro



vnitr-o
vniter
inside





assuming the principles of Standard Government Phonology (Kaye et al. 1990), what is the syllabic interpretation for types A and B that this contrast enforces ?

10.
as you may observe for all CVCC-roots shown, the root-vowel is never long. This is not an accidental property since CVVCC-roots do not exist in Czech. Given your answer under 9), how does this fact have to be explained within Standard Government Phonology?

11.
assume that there is only one mechanism in Czech that controls all alternations in vowel length that have been discussed. In which way does the analysis enforced by Standard Government Phonology that you have developed under 9) and 10) lead to a contradiction with Kaye's model?

In which way would we have to depart from Standard Government Phonology in order to arrive at a non-disjunctive formulation of Czech alternations in vowel length ?

